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0. UBIZ

L V) ERIESICE LT, »2)UEIHS, SHEFEEILIYTL
{, BRASHICHLLFL2UEE, LEZFELEICL > TOHREORA
BREINTWE, FRHDRADV ORISIEICR SN B EED—DIZ,
% BRI EVENT BUCHRAL T W IBird b, Shid, Sz 3
&, HERTEETAIBFL, FROICHBOBEKREH L LT CAUSE & v
I B% (function) ZRETH%2HIE, (D ISIREENBE LV LD,

(1) CAUSE(E,, E;) (E = EVENT)
SCHERBIE LT, 200X 2 (DOREBIE->TEDTE (20)D
I RERERNLENDLEVH) I LIZR D,

{2) a. The short circuit caused the fire.

b. CAUSE([gyen: THE SHORT CIRCUIT], [gyene THE FIRE])

UTZORDBRYUEEZD Co THRBLZHED TV LA, §3DEFICIEV
BHNZ, §1 TRIDEHDVBAHIZIVAVELRSFHFTLED LI 2FTE
REN, FRICEDOMDBEDL) I DTHL»EBBIT 5, §2 T
i, CORRTEELMEZLHDTWS EVENT LiZEDEHILb0%
BTOPDRELXITRI. $%bb, EVENT 23ETHEIEFH) ThnE
BEBNTATAMIREDL ) LRLDBEHL0EHLN,IIT S, §3T
i, COEHEISEOEKRER, LY DITEFLVISHEOEREREL
TRERZLDTHIDE,ZHERT . §4 TRE3OHROMEREIRD &
EDICFNRIIHM L TCFRENLEBERFT L A6, SHLIEBEFEDT
174, :

1. FSRORICEILL HMOBE
T4, FFO5E Tid Davidson(1967) 2 2F 5 Z L AT X B, David-
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son(1967) Tid, 1%BI4RIZ=2? EVENT I THELT, 7k z
£, 3)D XS X DHEMEE (logical form)1Z(4)D & 5 TH B L ~NT
Wh, '

(3) Jack fell down, which caused it to be the case that Jack broke

his crown.
(4) There exist events ¢ and ¢’ such that ¢ is a falling down of Jack, ¢’
'is a breaking of his crown by Jack and e caused ¢’.
FHEDERIX, Vendler(1967)IZBVTHRENTWVEDY, EIZ&HIZ
(52) DD John’ DX H 12, KEAWICIEEFHNOMED EVENT 2 KD T
ZFM TR VST ‘suppressed nominal’ D—2¢E 2 T(Bb)D L H I
BT NELELLTWVS,
(5) a. John caused the trouble.
b. John caused the trouble by doing something.
Z Z T suppressed nominal ® nominal & i ‘nominalized sentence’ % &
®T 5,

LHZEOFFIZBWTI, 20X %#E2HiE Miller & Johnson-Laird
(1976) DR B Z LT E D, Miller 513, LEFHDID, SHEEH
DRI BAEMICEERSTII L ThRWnS, SROMEIZELT,
UToORLE=>0DFHE*1T% o TWw3b : (a) the perceived effect cannot
precede the perceived cause in time; (b) the perceived cause must be spa-
tially contiguous with the perceived effect; and (C) both the perceived

cause and the perceived effect must be changes or events, not objects.
COFTHERA Y FO(C)FMEL LTWAHRIZHETLHDTH 5,

SHREOFETHE, ()0 IID - TIT0ENOERERFEB R/
AL DFHIHFRICR DI ENTE D, EDOHTH Dowty(1972) 130K K
ZbDEBbBY, WHIEHRE o0 EVENT OB LIRS (1D
F5E & parallel 2% T, CAUSE % bisentential predicate Td % & 29 4+
HEiThoTwa, 7221, L{AGNRTVE X HIZ(6)DILD kil
@ ‘unintentional interpretation'z) R0 E ) LEEEEZLDLELTWY
5

(6) John killed Harry.
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N S
CAUSE S _ /33\
DO John  Ss BECOME /Ss\
A NOT Se
John ali{\

Harry

Thbb, (NOBENFRLLTVEOIR, B)DXDL ) LEKRTHS:!

(8) John did something which caused Harry to die.
TS TR LS it 6)OXLEFTLEL, (DIRT
(10)D &k 5 FE&EEbT “by"-phrase 2 ELXDEHREKRTIHBHEL,
SO EHEETIITWS:

(9) The rock’s falling on John's head caused his death.

(10) The rock killed John by falling on his head.
Z @ Dowty @ bisentential approach DD, T 72 i3JLIL 72447,
7l U323 12372 Geis(1973), Wojcik(1976), McCawley(1976)7% KIZR &
N b, % B Wojcik (1976) I2 B W T, ‘with’ % % 5 /= ‘instrumental
adverbs’ @ source b predicate CAUSE @) sentential subject T 5 & D41
METRo TV 5, MEDTFHEFEE L RLFHAD LR S5, Fillmore
(1971) 72 £iZ b bisentential approach PE X HHER I Ibha L, /-
Nedf3lkov, Silnifskii & V3 o7z V#EDE5E¥E b CAUSE % bisentential
predicate & LTI S 2T - TWAE LI Thb,

$7:, COLILREBEBOGHEZELZADLETHBOTGEVON, T
Ea—% - %42 AD5TF D Schank (1973) D3 ¥ TdH b, Schank

(1973) i, a ¥ -2 ICk 2 HERSHEERIIAI-RA TR o T
LA, FOPTHEIZA) OIIZA L T (12) D 8% H 3 (conceptual
structure) # 3. T T\ %,

(11) John killed his teacher.



fE{%E=>? EVENT BOB¥K» 7 69

12 .
(' ) John &= do

® dead
teacher 4 ]
p alive
POSS-BY
- John

ROBEHEELLMATBL &, ZEOHHMEE () &, WHROK
B (two-way dependency) ¥ RLTBYH, ZOLd “p" id#E
(past) 2 EHRL TV, do HBREATWAWTE (ACT) 2 KDY
dummy, %72 John 7*% teacher DFICH G B L& OKET (4) 1A
& S HMKTER 4% (prepositional dependency) #Fb L, FORD POSS
- BY i3, ZOKGEHEBRYPFTAER (possessional) 23D THAH I & 2 EIK
LTwa, LMEO=EXRE (1) ZERBEK (Causality) %, ERIED
ZEERH (&) REBEEL, alive 25 dead DKRENE from-to DB
fE, ThEhEDLLTVD, o T(12)0EHKIX, ¥BOEETED
L oil, "EMMESE LI LA, BOREDEDPLFEANDELEFI S
L7y EnHTEEERT S, T/, (13)D X 9% “by"-phrase 2 &
LT, ()DL eBeigEE /2T T,
(13) John killed his teacher by shooting him in the head.

(14) P o R—> head
John < propel <— bullets ﬂ« POSS-BY-
— dead teacher
teacher & ——< gun
ﬂ PL—calive
POSS-BY
John

CORD “0" DXFMNLIZDVIZEMED—EDLRE (L) iZ objective
dependency %, “R” D2\27/z%&HNT RECIPIENT #* %3 5 dependency %,
FhEhEDLLTVS, 5T, (12)&(14) T, FEMLEE EOMHE
i37% <, (12)® dummy do Df%h V) ICERMI 2475 % F T phrase A7
RENTWVEbITTH S,

3T, UEMSDHEIZb 7 5T, Causation % ‘function over two
events' ETAREMLATERTEL, HAOBRPPHHEAADHTID
BHEBRHTHLBELERILZVER ) DT, ZOEROLDIZ, Thb
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DS BIIRONDEL v P2 EEPRAL T BREHILEBLT
FLHTBLILIZT S, 7, i, (15)DLH 2XDEFHED
“John” I EBRMICIZHE— D THING (ASbPD—HEEEZ D) L) B
ERICETALDELBRTNETIRL, (16)DLITHHEN) bD,
(15) John made Mary leave the party.
(16) CAUSE([Eyent DO(Lthing JOHN], [action 21)], [gvent MARY LEAVE
THE PARTY])
ZHER, (16)0&3 2HER, SRANOEIE2XELNT 7—F20
A% 67, (18)D L 5 LFE EDT “by -phrase ROMHEIZL TR E
OMOFEBRPLEA*HZEDLTEFRREZ I YT 7 —FT5HEVILDTH 5,
(17) John’s telling dirty jokes made Mary leave the party.
(18) John made Mary leave the party by telling dirty jokes.

2. EVENT &ifah ?

&T, EVENT &~ B%EIWV) bDEIETDTHS ) » EVENT &
BRESTHIEHE—EHIIRIDLINOTH S, ThIZHL, STATE ®
THING iBEEMICHH T 5. €T, EVENT Kb TRBIL ) Th
V» STATE % THING 2 b T HBERXFHT 557X FD—2i, ‘What
happened/occurred was (that) -~ DRIEI D I 2 HhEPTHbD, Flz
, 19)EZDFAMIA2EPTHH, (200RZDFR FErPbLiV
BlIThs.

(19) (a) a fire.

(b) a short circuit.

What happened was (c) that John got sick.
(d) that Mary played the piano.
{e) that John caused Bill to die.
: etc.
(20) (a) *a tree/ *Cleopatra's nose.
(b) *that John was at the party.
What happened was q (¢) *that Mary was playing the piano.
(d) *that John was to go to Australia.

etc.

372, TLAULOETIC LASEATE VA, EVENT 2 &b
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STATE ¥Eb T XiEF1T 57 A MOTHMBIER & ORI H 5,
MO & I2, STATE & RbTXTIREMBERH %V THENBEZ
BURTZEHTEHOIM L, EVENT 2EbTXIRE0 T ¥ Tiaik
MBEEZERDTIENTETY, ThERDLT-DOIRETHICTHLED
bb, Blzi, (21)DEXIE, FHEHBEREZTRILTWASDT, STATE
Thbo
(21) a. John is in Australia.
b. John loves Mary.
¢. The cliff hangs over the road.
SHISH L, (22)DEIFHRMBIER % RKb LB 2 ViEtis, EVENT &
W) &Il b,
(22) a. *Mary plays the piano now.
(Cf. Mary is playing the piano now.)
b. *The sun rises now.
(Cf. The sun is rising now.)
etc.
(23)D & 5 35A R, BHBERFHECHAVWShTHT, —RZDF2 b
DRBIDEHICRZ BN, TheEDXHFED LT SDIEFREHIETIE
<, BEMHLVIRIBFBEHTETE, RRRETHL,
(23) a. The earth goes around the sun. (¥&##Y)
b. Mary plays the piano every day. (E{EH#))
c. Bill flies to Europe tomorrow. {(33#)
5T, DEBTAZOo0FA POWTIYH L VIEMAE TRES IR
BIAEVENT &) Z Ltk b,
b AIZ, EVENT £ EbTXDER L LTI, (19 d.e) DEILE
NOXDBEDLLTVE L) RUTD=00D5 4 7 ThHhEBbREL!
(24) EVENT TYPES
1) CHANGE OF STATE: e.g. John got sick.
1i) ACTION: e.g. Mary played the piano.
iii) CAUSATION: e.g. John caused Bill to die.
%3, EVENT £V ) BIRHEEN S HICED L ) ICTHURGFENHEH
V) CORBERU EVENT DEREND Y 4 THED LS L@ H
WTRBENBEREDNEV ) REIL, RFOHHEETRI A CTH B
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BT HY, COBRODBBICHEL L OOTIITEHLTBE-VDIE,
CAUSATION #1H& b EVENT #Z: w3 2 & Th b,

. (DMOBRICED S HHICOVWT DR

if CAUSE &5 HED_FHOHAEVENT THHZ & tiF'i%#
ZnEBbhd, L) Did, #HREV)DIZLRBIZLA S HOKREE
b, T%bbH EVENT PRI 522 EETINLTH D, LRI,
(252) D31 (25b) 2 EHET 5!

(25) a. John made Mary leave the party.

U
b. Mary left the party.
7z, FEHIZIZREER LA To-FEFHD complement DA LT
2\ (262) DXDHETH, (26b) Lo REEMEEET 2,
(26) a. John caused Mary to be happy.
Y
"b. John became/came to be happy.
Z DD, QRT)DOFHIRT & 91T ‘the confusion’, ‘the trouble’ D & ) 2%
FIENF cause D BEMFEDNMBEICRALZ EMNTEDDIZIL, ‘book’ R
‘table’ R EDZFIIZDOMBICRD I EMNTELWI LA 5 b, function
CAUSE DZFHHOHEA EVENT THLHZ LXBLHIEEL LS
(27) John caused [ the confusion/the trouble.
*a book/ *the table.

M % DIt function CAUSE DZHHDHETIE 2L, KPOHDHTH
5o (22)R (1) DFHAITIE, BHMDEAN EVENT THH I L RBIL 2/
A%, RD(28)D ‘Cleopatra’s nose’ &b L %9 Lidk iz

(28) Cleopatra’s nose made the course of history change.

(20) AR LTV 51412, ZOEIZ EVENT OF A ML bR,
F7:(15)D John’ DX, Z VAN ORMPMAPE LR, BE
DRNANEDL L EBRTEDLDIFTL VY, ZOT LI13(29) DA out
THLEIENRLT VA

(29) *What Cleopatra’s nose did was make the course of history change.

E518, (0)DarbcDXITEBLTASE, FXNDEFED NP AF
EbLLTWADIE, (2007 X FTHLPZL L H I EVENT LIEER 2V



%12 =D EVENT B OEED ? 73

(30) a. Joﬁn's being there made Mary leave the party.
b. That Mary was playing the piano made her mother angry.
c¢. That John was to go to Australia made his wife angry.
wfn% RERBO—MT, a DXOBHAIRFEDRE, b Opaic
liﬁ%?ﬁ*ﬁ&bﬂfu%& c @i%é.*ldiu.n#iaﬁ&bnl 2ELT
VBRERE LTV,

Ho TULEDHENPLWS LT LIk, 155 CAUSE OREMOFIZLT L
b EVENT TidZz{, THING ® STATEDZ L b HHHHEWVHT ET
Hb, (15)OXDOHELRGFAEICLTY, (17)D X ) % EVENT & LTOME
FiTH» Tk <, (30a)® John's being there’ D & % % STATE & LTD
BRO T TH D, TIUL, (15)DXOEKRET L LT OXOKITHEE
EPITRLNIZ(16)D & ) LG T IRET AT BN H 5 L 5 ICH
bhs,

Rz, (1B)DXH(17) L FHE(16)D & ) L BEWHEETH B LT L5 D
PR LRI L TBEZV, 23, FEREEDT phrase 12(18)D L5 %
BHEAPLED bOEFTEL, BOLI BVbYbREARFAD LK S
bDLHEET S

(31) By his treacherous act the captain caused a captive to die.

B, ALV EBOXFIEBHELDLDTHLHDT, BREEILE
VT ‘his treacherous act” % (18) ) ‘by telling dirty jokes' & [A4%iZ(32)
DE)LEELFITLTDH, (B)DOIHMBELV LR, LA OEEILL
vl

(32)  [event DO(Lrning X1, [action Z21)]

(33) The captain’s treacherous act caused a captive to die.

Lo LLds, ()0oXeid tHfEdE-TL 5

(34) | Through

I"By
caused a captive to die.
ZDIXDEGEIZIL, through DHH by £ b Z\'fT»f TOHM TRV
I 2, WFRIZL TS ‘his subordinate’ 12(32)DHEED X DIHEZ Ko
LI EWRTE&R, 28755, X OIZT T ‘the captain’ 12X o THD
LRTVEDSLTHL,
FEHDERIL, ZOJUIDOWTHRHATES, TD(35), (36)D_XD

his subordinate’s treacherous act the captain
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X3 BB ERERLTNS!

(35) John's blowing bubbles made us laugh by making us realize how

drunk we all were.”’
(36) The dean’s expelling the student protestors caused a crisis to
arise by increasing animosity between him and the student body.

CNLDXDFEERERDTAL, R)DZOHEXLEDDL I LIXTELRN,
FDIHIL I TIZ ‘blowing bubbles’, ‘expelling the student protestors’ A¥id\»
S2TWHENLTH A,

T, RREDEREL LB, 31D a, b DL ITKRERR Y £
D NP &£ LTWABIEETYH, “by’-phrase 3R V155

(37) a. ? John’s being there made Mary leave the party by giving her an

unpleasant feeling.
b. ? John's presence at the party made Mary leave there by giving
her an unpleasant feeling.

T /28512, “by”-phrase {2(38)D X )2, KREEFIFAMNEIDI B LW
IT e, (ERBRRFHERLL sentential 2EFED NP HENDOK
PUZIR S WIZLTY), (32)D &) LEEIPLBISDOTIRRZVI L
BELPTHL:"

(38) John made the baby cry by being there.

oT, (34)—(38)DFIE, ZDHED by %1£ 5 phrase i&, BEE
CAUSE OEHINETH S EVENT OFIZRHET LD TR, H{ET
CAUSE DfsfiisEA & LT R) AU THLHI L2 RRL T h,

4. % U

HUE, %" >0D EVENT OHE LTE LB THL LT HERL,
FHICEE L2 LT, Zo08» oM 3T - TE, F—5
&, CAUSE OEAMOEIZE L Tix, ¥+ L b EVENT Tid% { THING
R STATE b#EZ N I B LI T %R LA, Thbb, SEFHERLT
Ly, BEZERLLEEELERELTVWD IS %, ()DL LEAHEK
() (symmetrical) ZHBETHAVE NS 2 & ThD, B, FBEE
#b¥ “by"-phrase 25iEF CAUSE D417 EVENT 0)—-1[5’5::5806 s
HGHIIT L, FOMESEIRE L,

DX R LTFRIND KRN —2IFRD LI 72%0)'(%6
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EEbhs, (28)D ‘Cleopatra’s nose’ %°(30a)? ‘John's being there' i %
N E{EIE EVENT Tk WA, Zhbidd b EVENT HHW0id—HED
EVENT I o7 Z L 2 EET 5, (28)%56, ZJLANMSDRDOFE,
HHNVIFENICL > TRESNBERDERY Y —HF =Ty b=—tWn
27— OREELBEDIT, L\Vio/- EVENT HEEShE, £
LTEZFDEXE SN2 EVENT 7% ‘the course of history changed’ & V9
EVENT 25| SR LA ETLMRFTE L, £hwxil, (28)%(30a)
D L) %L (1)D Assumption DREFNUZE B SBWEVI LD TH B,
Miller & Johnson-Laird(1976) 12, BRI ZBIIREIF TR 2w, (39)
DESLBANEME-T, COEDKRELHHAL TS

(39) (S; D e, & Causele;, €3)) O Cause(S;, ez)

(S,= State;)

L LaHs, £0L 5% EVENT %2\ Liz—®E®D EVENT X, S5
DHBRIZET LD TH B, 2oz b D, LHEMITHAE L RS%
bOTH, BRDERFRORBETED D I LIIRHZEMTHD, L%
DEIEZX DL, (2)OXDHEAETH, [THE SHORT CIRCUIT]
X Z N BIE EVENT 729, HAPHEIL—#ED EVENT 2 &ELTw
LI THD (eg IERIBEIIME, %), A HIZLLDH, FH0vop
oM EVENT OEIZB£6 L, EHTH S, Th LK,
Fodor et al.(1980)i2B W TH, (40)D (A) D& ) 2HEXZ(T)D LD
{2 bisentential ZHEHE LI BT LTI RS TWVA!

(40) (A) The wind moved the leaves — [B) The wind did something
to the leaves which caused them to move — Q: What was it that the
wind did to the leaves such that it was the wind’s doing that to the
leaves which caused them to move ? = e.g. (C) The wind exerted
force upon the leaves = (D) The wind's exerting force upon the
leaves did something to the leaves which caused them to move - - -

(Fodor et al. 1980: 292-294)
Fhiztkhid, (A) ot (B) oxXkEFETHY, 72 (A) 2 (B)
YEETD, (A) DXHHTHZ LI AT, Vv TAFE X2 8D,
FTELIREDE ) BITBEES LI Ly KEZFRIINER SR\,
cE 2, EDEN (C) KeT 5, £DHE, (A) OXPETHHDIL,
(Cl ®ETHE2HTHbD, LIL, (D) PETHLLEIZOA (C)
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PESFDBHEE2HWPTEIENTE L, TR ED, (D) BELB Y
Causative X FATWA DT, (A) & (B) oBEFREEMIZ, (D) it (E)
LRFETHD, X (E] 238ETHI LI, TOFRRIOESIcE
BRICEDEEINDEVW)ZEIZRDBEED,

5T, (28), (2a), (WOA)D=2oDFEHNLEL BT Lit, BHHEO
Assumption ¥ 5F5 72012, ‘Cleopatra’s nose’ DFEFIZFNALEEI N
AHEM % EVENT % rocover LTERERBZRICEDLHIELLTY, #
OBLRAARL V) B DIZT TIC EVENT T A ‘the short circuit’ 72 &I
DEHATELVWHEIBRMTL 2L, /282 TRAHIZ, Causation #hH
&3 EVENT TH B D5, recover 27z EVENT #F Causation & V5 7]
BMEb DY, TOWAITI Fodor 5T 2 BIRD decomposition %47
LbRiTNER L ALV HEBIZNLEEL L W) T E DS
HhIrknHZEThsb,

(=3
* AT, 19884ERE HARKEFERSE 6 AR (1LALZBRFIFBERE) 28w

TORRRSML HREBFADERERIET 2 —FE, RESW TV,

1) (2a)®3Ci3 Davidson(1967) 65D D TH BHH5, (2b)RU T hLBEDFDE
DERFRE, EFORALTVWAELOTH S,

2 ) Dowty it ‘intentional interpretation’ & ‘unintentional interpretation’ Z XBIL,
ENEIFOHETHHLE LTV A,

3) (35)iX Jackendoff(1983: 176) Z#: 5,

4) (BYD LI %Blik, LROKRSTOREDNH, HERFOHHEROUEIEENRIC
$B5bDTHD, BHDELETHRETH 5,

5) BREFHICIBVTE, L LOMERER EVENT L LTEDbIEwENS
Lk, BREZILVCEKRTO GBI, MROGRT FES L LTHERT
HHE, HEQBDETERSNTWLIHASEIIBITS A & EE
2 oFHtEo—onFbhThHs L Bbh b, R
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Is Causation a Function over Two Events?

Kazuko INOUE

It has been assumed not only by linguists but also by philosophers and
psychologists that causation is a function over two events. Using the
semantic function CAUSE as a common element underlying all the verbs
which imply causation, we can formulate this assumption as in the
following:

(1) CAUSE(Ey,E;) (E=EVENT)

The purpose of the present paper is to discuss whether or not the above
assumption is valid in terms of linguistic semantic representation.

Section 1 gives an outline of the analyses based upon the assumption.
It deals with the treatments made by scholars from various fields, such as
Davidson (1967), Vendler (1967), Miller & Johnson-Laird (1976), Dowty
(1972) and Schank(1973). Section 2 is concerned with how to define the
event‘in linguistic terms. Two tests are proposed which distinguish event
expressions from non-event ones. Section 3 discusses the issue of whether
or not the firstl argument of CAUSE must always be an event and that of
whether or not the “by”-phrase as in ‘John made Mary leave the party by
telling dirty jokes' fills in the action structure of the first event argument of
CAUSE. It follows from the discussion that while the second argument of
CAUSE is explicitly an [EVENT], its first argument can take a [THING]
or a {STATE] as well and that the means expression cannot be taken to
be part of the first argument of the CAUSE function; it is sim-
ply a restrictive modifier of the CAUSE function. In Sectior\l 4 1 argue
against an attempt to reinterpret as an event a subject NP such as ‘Cleopat-
ra's nose’ in ‘Cleopatra’s nose made the course of history change’ by re-
covering what is missing from the context. It is shown that such an analy-
sis will admit indefinitely many events between a cause and its effect and
will thus lead to a reductio ad absurdum of the proposed analysis, as pointed
out in Fodor et al.(1980).





